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SI. No.1
QBID:1554941

From among the four options given, choose the correct sequence of the four
phrases given below. to make a meanmmgtul sentence :

A. Lower our guard and our masks

B. repeatedly whether the pandemic might finally
C. be over, many of us are willing to

D. having asked ourselves

a) A.C.B.D
@) D.B,.C A
(c) C.D.A.B
() B.A.D.C

Answer Given by Candidate : B

Sl. No.2
QBID:1554942

Which of the following is one-word substitute for 'the quality of having a ready
msight into things'?

(a) Felicity
(8) Tenacity
(c) Perspicacity
(p) Chromaticity

Answer Given by Candidate : Not Answered

Sl. No.3
QBID:1554943

Identify the correct indirect narration for the following sentence :
The lady said to the servant, "If you don't wash the clothes properly, I will
dismiss you".

The lady warned the servant that she would dismiss her if she didn't wash the
) clothes properly

(8) The lady told the servant that she would dismiss her on the event of bad work
(¢) The lady cautioned the servant that she must wash the clothes properly




(D) The lady advised the servant to wash the clothes properly

Answer Given by Candidate : A

Sl. No.4
QBID:1554944

Pick the plural form of 'matrix’.
(A) Matrixs

(B) Matrices

(€) Matries

(D) Matru
Answer Given by Candidate : B

Sl. No.5
QBID:1554945

Which of the following options will be the correct choice for the blank?

I'm not sure where he 1s. He out for a walk.
(A) gone

(8) may have gone

(¢) has gone

(D) 1s going

Answer Given by Candidate : B

Sl. No.6
QBID:1554946

Match List I with List IT :

List I List IT
(Animals) (Sound)
Alapes I. howl
B .wolves II. gibber
C.lambs 1T .squel
D pigs IV.bleat

Choose the correct answer from the options given below :
(a) A-IIL. B-I, C-IV. D-III
(8) A-IIIL. B-IV, C-II, D-I
(c) A-IV, B-II, C-III, D-I
(p) A-IL B-III, C-IV, D-I

Answer Given by Candidate : A

Sl. No.7
QBID:1554947

From among the four options given. choose the one which is a grammatically
correct sentence.




(A) Frequent entertain or quality time m home calling out for comfort seating.
(8) Frequent entertaining or quality time at home calls out for comfortable seating.
(c) Comfort seat calling out for frequent entertaning or quality time at home.

(p) Frequent entertaining calls out for comfortable seating or quality tune at home.

Answer Given by Candidate : B

Sl. No.8
QBID:1554948

From among the four options given. choose the one in which the word has been
spelt correctly.

(A) Vituperative
(B) Vetuperative
(c) Vituparative

(D) Vituperetive

Answer Given by Candidate : A

Sl. No.9
QBID:1554949

Choose the correct option to make a meamngful sentence.
Sneha is in the art of cooking.

(A) Adept

(8) Adopt

() Adapt

(D) Admit

Answer Given by Candidate : B

Sl. No.10
QBID:15549410

Choose the correct preposition to complete the following sentence :

Ramanujan is good mathematics.
(A) at
(B) i
(c) for

(D) nto
Answer Given by Candidate: A

Sl. No.11
QBID:15549411

Reversing Roe 1s a documentary film centered on
(A) Civil Rights Movement

(B)




Debate on Abortion Rights
(c) Women's Right to Study Medicine

(p) Voting Rights for the Blacks

Answer Given by Candidate : A

Sl. No.12
QBID:15549412

Match List I with List IT :

List I List IT
(Noble Prize Winners) (Area/Subject)
A. Md. Yunus I. Chemistry
B. Abdus Salam II. Peace
Venkatraman .
e g IIT Economics

D. Maria Ressa IV Physics

Choose the correct answer from the options given below :
(a) A-I, B-II, C-III, D-IV
(8) A-III, B-IV, C-I, D-II
() A-IL. B-III, C-IV, D-I
(p) A-IV, B-I, C-II, D-III

Answer Given by Candidate : C

Sl. No.13
QBID:15549413

Match List I wath List 1T :

List I (FM Radio) (%;;:ife)
A .Radio Mirchi I. Dhoon badal ke toh Dekho
B My FM II. International Indians
C.Big FM II1.Ji0 Dil Se
D .Radio One IV.....Sumnewale always Khush

Choose the correct answer from the options given below :
(a) A-l B-II, C-III, D-IV
(8) A-IIL B-IV, C-II, D-I
(c) A-IV, B-III. C-I, D-II
(p) A-II. B-I, C-IV, D-III

Answer Given by Candidate : C

Sl. No.14
QBID:15549414




Match List I with List IT :

List I List IT
(Author) (Title of the book)
A Salman Rushdie I. The Inheritance of Loss
B.Arundhati Roy II. The White Tiger
C.Kiran Desai II1.The God of Small Things
D.Aravind Adiga IV.Midnight's Children

Choose the correct answer from the options given below :
(a) A-I B-II, C-IV, D-III
(8) A-IIIL B-I. C-II, D-IV
(c) A-II. B-IV, C-III, D-I
(p) A-IV, B-III, C-I, D-II

Answer Given by Candidate : Not Answered

Sl. No.15
QBID:15549415

Which company manufactured the Ambassador car?
(A) Tata Motors Ltd.

(B) Mahmdra and Mahindra

(c) Ashok Leyland Ltd.

(D) Hmdustan Motors Ltd.

Answer Given by Candidate : D

Sl. No.16
QBID:15549416

Pomting towards a boy. a girl said. "He is the son of the daughter of the father of
my uncle.” How is the boy related to the girl?

(A) Brother

(8) Uncle

(€) Son-in-law

(D) Nephew

Answer Given by Candidate : A

Sl. No.17
QBID:15549417

If A+ B means A is the mother of B: A — B means A 1s the brother of B: A% B
means A is the father of B and A * B means A is the sister of B. which of the
following shows that P 1s the maternal uncle of Q?

(A) Q—N+M=P
B) P+5xN-Q
c© P-M+N=xQ




(D) Q—-S%P

Answer Given by Candidate : C

SI. No.18
QBID:15549418

If Z=752 and ACT = 48, then RAT will be equal to -
a) 72
(B) 78
(c) 92
(D) 64

Answer Given by Candidate : D

Sl. No.19
QBID:15549419

There are equation that have become wrong due to incorrect order of signs. From
the four alternatives. given below, find out the correct order of signs. So that
equation becomes right.

8§+-9=90-81

(A) =7

B) T, ~+

(€ = .-

(D) %=
Answer Given by Candidate : D
Sl. No.20

QBID:15549420
If + means *. / means —, * means / and — means +, what will be the value of 4 +
11/5 -55=2

(A) —48.5
(B) —11
(c) 79

(D) None of these
Answer Given by Candidate : D

Sl. No.21
QBID:15549421

If (25)73 x (5)%° + (125)19 = 5x then x = ?
(A) 13

(B) 8.5

(©) 16

(p) 17.5

Answer Given by Candidate : D

Sl. No.22
QBID:15549422




Half of a large Pizza is cut into 4 equal-sized pieces, and the other half is cut into
6 equal-sized pieces. If a person were to eat 1 of the larger pieces and 2 of the
smaller pieces. what fraction of the pizza would remain uneaten?

5

12
i
24
"3
12

13
24

Answer Given by Candidate: A

(A)

(B)

(©)

(D)

Sl. No.23
QBID:15549423

In a business, A and C mvested amounts in the ratio 2:1, whereas the ratio
between amounts mvested by A and B was 3:2. If Rs. 1.57.300 was their profit,
how much amount did B recerve?

(a) Rs. 24.200
(8) Rs. 72,600
() Rs. 36,300
(p) Rs. 48,400

Answer Given by Candidate : C

Sl. No.24
QBID:15549424

Company A produces toy trucks at a cost of Rs. 50.00 each for the first 100
trucks and Rs. 35.00 for each additional truck. If 500 toy trucks were produced
by Company A and sold for Rs. 100.00 each, what was Company A's gross
profit?

(a) Rs. 31.000

(8) Rs. 15,000

(¢ Rs. 21.000

(o) Rs. 13.000

Answer Given by Candidate : B

Sl. No.25
QBID:15549425

A shopkeeper fixes the marked price of an item 35% above its cost price. The
percentage of discount allowed to gain 8% is

(A) 43%
(B) 27%
(©) 20%




(D) 31%

Answer Given by Candidate : A

Sl. No.26
QBID:1245501

Choose the odd one out:
(A) Mohammed Rafi
(8) K.L. Saigal

(¢) Naushad
(D) Adnan Sami

fqwT ogfe o1 iU -
(A) HIEHE IH!

(8) . Ud. g
(©) e

(D) 3 HrHl

Answer Given by Candidate : B

SlI. No.27
QBID:1245502

Which of the following options 1s the correct alphabetical order of the four words
given as:
Rumbustious. Rumanian. Rumour, Rumple

(A) Rumanian. Rumple. Rumour, Rumbustious
(8) Rumour, Rumbustious, Rumple, Rumanian
(¢) Rumanian. Rumbustious. Rumour, Rumple

(p) Rumple. Rumour, Rumbustious, Rumanian
e HIY & U 71U Yecf P qUHTET hH H Suaieyd Pifom -

Rumbustious. Rumanian, Rumour, Rumple

(A) Rumanian. Rumple. Rumour, Rumbustious
(8) Rumour. Rumbustious, Rumple, Rumanian
(¢) Rumanian. Rumbustious. Rumour, Rumple

(p) Rumple. Rumour, Rumbustious, Rumanian

Answer Given by Candidate : C

Sl. No.28
QBID:1245503

If "ORANGE" 15 coded as ‘MTYPEG' 1n a certain language. then how will
‘CHILLY" be coded in that language?

(A) AJGNNW




(B) AIGNIA
(c) AJEKNNW
(p) AIGOOW

3R 'Orange’ I 'MTYPEG' § Us HI&q Wu1 § pied fobar Siar § df 'CHILLY"
3 YT H g 2

(A) AJGNNW

(8) AIGNJA

(©) AJKNNW

(D) AIGOOW

Answer Given by Candidate : A

Sl. No.29
QBID:1245504

Choose the odd one out from the following:
(A) Morarji Desai

(8) V.P. Singh

(€) Narendra Modi

(D) Sardar Patel

faws safad &1 gf1u -
(A) ORRE ¢4E
(8) dl. Ui &g

(©) = Hial

(0) IER Ucd

Answer Given by Candidate : C

Sl. No.30
QBID:1245505

Which will be the missing pattern i the series? Redraw figure

o] 3

(A)

(B)




(D)

>
AN
’

(A)

(B)

B
il
Y
’

(D)

Answer Given by Candidate : C




SI. No.31
QBID:1245506

‘If MANGO’ 15 coded as ‘KCLIM’ in a certain language then how will *SWEETY”
be coded in that language?

(a) QYCGRA

(B) QYCCRA

(c) QYGCERA

(0) YQCGRA

U ST YT § 'MANGO'. 'KCLIM H S 8ldl 3 | 39 YN § 'SWEETY'
3 picd fasar S 2

(a) QYCGRA

(B) QYCCRA

(c) QYGCERA

(0) YQCGRA

Answer Given by Candidate : B

Sl. No.32
QBID:1245507

Which among the following words comes first in a dictionary?
Shrub. Shudder, Shroud. Shuttle

(A) Shrub

(8) Shuttle
(¢) Shroud
(p) Shudder

T fou U vegi H Yes @ iw © 9ad UgHl e &Il ST 2

Shrub. Shudder, Shroud. Shuttle

(A) Shrub

(B) Shuttle
(¢) Shroud
(D) Shudder

Answer Given by Candidate : C

Sl. No.33
QBID:1245508

Which of the following options 1s the correct alphabetical order of the four words
given below?
Sport. Squash. Sporadic. Sprout

(A) Sport. Sprout. Sporadic. Squash
(8) Sporadic, Sport. Sprout. Squash




(€©) Sporadic, Sport. Squash. Sprout

(D) Squash. Sprout. Sport. Sporadic
e H 19 [T 71U Wec| P FUIHTET hH H oUareyd PHifom -

Sport. Squash. Sporadie. Sprout

(A) Sport. Sprout. Sporadic. Squash
(B) Sporadic. Sport. Sprout. Squash
(c) Sporadic. Sport. Squash. Sprout

(D) Squash. Sprout. Sport. Sporadic

Answer Given by Candidate : B

Sl. No.34
QBID:1245509

What will be the Next Pattern in the series?

| ?

(A)

o
T
4
%

(<)

(D)




few mu 4ot § spTen e oar g 2

| ?

Answer Given by Candidate : A

Sl. No.35
QBID:12455010

Complete the series by filling the missing number
2.,5.14, 57,284, 2

(A) 1420

(B) 1421

(c) 1704

(p) 1705

faeqed Te=AT @1 fU U 4uit T 1R R Py |

2.5.14,57.284. 7
(A) 1420
(B) 1421
(c) 1704




(D) 1705

Answer Given by Candidate : A

Sl. No.36
QBID:12455011

cosB —sinB - )
Ha—=" then 4 + 4° = for B equals to
smB coshB
-
n)
3
-
(8
6
(c) T
3
(D) —

B —sinB| - ]
st TSP R 4+ 4AT= 1 FEBHIHA 21 |

smB coshB

(A)

(B)

1 o8 W

(©)
3T

(D) —

Answer Given by Candidate : A

Sl. No.37
QBID:12455012

The number of 7-digit numbers whose sum of the digits equals to 10 and which is
formed by using the digits 1. 2 and 3 only 1s:

(A) 55

(B) 66

() 77

(D) &8

7 3{] P g8 T [T 3id BTN 10 S avE o | R ol fob daa 1.2 3R
3 3i% &1 WO TR ST T & |

(A) 55
(B) 66
c) 77




(D) H8

Answer Given by Candidate : B

Sl. No.38
QBID:12455013

If from each of the three boxes containing 3 white and 1 black. 2 white and 2
black. 1 white and 3 black balls. one ball 1s drawn at random. then the probability
that 2 white and 1 black balls will be drawn 1s:

13
32
1

(B) —

4

(A)

1

© —

32
3

(o) —

16

IR dF 9169 § SO 3 e 3R 1 HIALL 2 JHe 3R 2 Hal. 1 g 3R 3

PTG T | U T &l Urefoss U I e aar g | 99 2 9%e 3R 1 S

Tig & T &1 TeITeTdr a1 BT 2

E

32

1

(B) —
4

(A)

1
© ——
32
3
16

Answer Given by Candidate : A

(D)

Sl. No.39
QBID:12455014

Let f(x) = |/ x | — 1], then point(s) where f (x) is not differentiable is (are):
a) 0.=1

(8) =1

(© 0O

(D) 1

OHT £(x) = || x | - 1); 1 98 65 O6l, £(x) AP T-11d (differentiable) 781 8 (3) :




a) 0.=1
(B) =1
(c 0O

(D) 1
Answer Given by Candidate : C

Sl. No.40
QBID:12455015

Let f: [2. ] — E be the function defined by f(x) = x> — 4x + 5. then the range of f
(A) =

8) [1.%)

© [4.=)

(0) (—==.0]

AT £ [2. 0] — RBAT 6 A D f(x) =x2 —4x + S U IRV | Al FT
U (range) EﬁTﬂ :

(A) =

(8) [1.)

(©) [4. =)

() (—=. 0]

Answer Given by Candidate : C

Sl. No.41
QBID:12455016

= lin{l tax)-In(l f}x}_ is not defined at x = 0. What value

X
may be assigned to fat x = 0, so that it is continuous?

The function 7 .r)

(A) a+b
B) a-=5
(©) b—a

(®) lna+1lnb

B If'[,r):lln{l : rr-,'r:l ]H“ f}.‘{‘}: I=ﬂwqﬁlﬂﬁﬁ:|ﬁ% | fﬁfﬂﬁw

Ay g @l 8. ol 31 98 x = 0 R 9ad (@12 Hgem) 3 2

(A) a+tbh
B) a-5b
(©) b—a

(D) lna+Inb
Answer Given by Candidate : B




Sl. No.42
QBID:12455017

The area enclosed between the graphs of vy = x> and the lines x= 0, y=1,y=38
18:3

(A) 7

(B) 12
45
4
21
3

W}'Z.‘J{S \3?!?1:{}.}': 1.}‘=E@Tﬁ$ﬁﬂﬁmﬁ-{%‘?

) 7

(©)

(D)

(B) 12
45
4
21
8

Answer Given by Candidate : D

(<)

(D)

Sl. No.43
QBID:12455018

If the vertices of a triangle are O (0.0), 4 (a. 0) and B (0, a). Then. the distance
between its circumcentre and orthocenter is:
a

(A) 5

o
® 75
© 2a
&l

(D) 4

IR UF FAHI01 & YT 0 (0, 0). 4 (a. 0) IR B (0, o) © A1 59D IRIT AR
TR (@Tel fawg) & &4 fasa-l g1 gt 2

o

A) —
()2

o
® 75
© 2a
&l

(D) 4




Answer Given by Candidate : A

Sl. No.44
QBID:12455019

The straight linesx +v=0,3x - v—4=0and x ~ 3y — 4 =0 form a triangle
which is:

(A) Right angled
(8) Equilateral

(©) Isosceles

(D) Icosceles and right angled

x+y=0.3x+p—4=0,x+3y—4=03G3M T T TF TS0 ST G 2
(A) JHBIUIG
(8) HTHSIE

(c) GHfgEE
(D) %‘mﬁ—m—g Sﬁ'{ﬂﬂﬁﬂﬂﬂ

Answer Given by Candidate : D

Sl. No.45
QBID:12455020

If one of the lines of ax” + 2hxy + by” = 0 bisects the angle between the axes in the
tirst quadrant. then

(R) h—ab=0

(B) i’ +ab=0

(©) I:ﬂ+fl}2=h:

(D) (a+ b)Y =4k

TUH IgUI H 3R ax’ + 24xy + by? = 0 BT U QT &l P a1 DIl Dl
fpufsa axdt g 1

(A) hr—ab=0

(B) W +ab=0

© (a+bi=hn

(D) (a+b}2=4h3

Answer Given by Candidate : B

Sl. No.46
QBID:12455021

What 1s the value of:

[tan® (90 — 8) — sin® (90 — 6)] cosec” (90 — 6) cot® (90 — 6)




(A) 0
(B) 1
(© -1
(D) 2
[tan? (90 — @) — sin? (90 — 8)] cosec? (90 — 6) cot? (90 — 6) BT A T 2
(A) O
(B) 1
©c -1

(p) 2
Answer Given by Candidate : A

Sl. No.47
QBID:12455022

If 4 + B=45° then (1 +tan A) (1 + tan B) is equal to:
(A)
(B)
(©)
(D)

WA—B=45°%#[[1 +tan 4) (1 +tan B) =7

(A)
(B)
(©)
(p) 1

Answer Given by Candidate : D

a0 % T [N TR

fag  bJ

Sl. No.48
QBID:12455023

If 7 and E; and are two unit vectors such that

E: 2h and Sq_4p Are

a+
perpendicular to each other. then the angle between

and 3 18

(A) 45°
(B) 607

(C) ws_] [—

1[2
(D) cos ' |—

R 7 3R 3 AYCdFRGIUPRE D 7,5 AR 5,4, WD
dgaqedl ; SR ; P DI AEIG ?

(A) 45°




(B) 60°

ms_][l
Cc) ¢ —
(C) 3

D

Answer Given by Candidate : A

Sl. No.49
QBID:12455024

Let g=j—jand p_;, j+k and ¢ be a vector such that (a x ¢) + b=0and a.c =
4. then |e/? is equal to:
(A) 8
(B) E
2
(©) 9
17

(D) —
2

qﬁgﬂ:f—fSﬁq.ﬁr:f‘+~j+kﬁﬁwa@(mﬁwﬁﬁi{ﬂxf]+b
=D3ﬂqa-c=4ﬁfczﬁgﬁ@ﬁ$wm-
(A) 8
(B) E
2
(©) 9
17

(D) —
2

Answer Given by Candidate: A

Sl. No.50
QBID:12455025

¥ ) » _ ; ) . .'—.- —3 J_I-.x_,-.__
If a.b, c and _; are the unit vectors such that | axbh || e xd | =1 and

= =31

|ﬂ-c‘ |=%.ﬂli‘ﬂ

(a) Only E ¢ are non-coplanar

(8) Only , E 4 are non-coplanar

(cy Both E E and

7

— —3F —3
a.b.d = non-coplanar

o

(p) Both E E  and

?

E; f} are coplanar

Ly
b




alg 4 5 ¢ 3R J SH UPR I UPD GG (unit vectors) §

R e e
\ LY ) 1 !

d

(&) HaAd , 5 SMEHAAIEE |
(8) aq , ; ; AGHAAE |
© Gl 5 5 ¢ SR 4 5 4 SEHAITE |
() &, 5 7 3R, p  WAACIEE |

Answer Given by Candidate : C

Sl. No.51
QBID:12455026

Let A= {1.2,3} and consider the relation R = {(1.1). (2.2). (3.3). (1.2). (1.3)} then
R 1s:
(A) Retlexive but not symmetric

(B) Reflexive but not transitive

(¢) Symmetric and transitive

(p) Equivalence relation

MHATA = {1. 2,3} 8. IR RATT R = {(1. 1). (2. 2). (3. 3). (1. 2). (1. 3)} BAIR
frg THR ST RATET |

(a) Nodifagd f-g Rmids (gufird) =&l

8) Repeifeya fobg gifvifed (wepma) et
«© Rmfee @HiEa) 3R gifsifea (@hma)
() UHdad RewHE

Answer Given by Candidate : A

Sl. No.52
QBID:12455027

A spring 1s being moved up and down. An object is attached to the end of the
spring that undergoes a vertical displacement. The displacement is given by the
equation y = 3.50 sin t + 1.20 sin 2t. Find the first two values of t (in seconds) for
which y = 0.

L%

@ [ =0,—

4

¥ i

t=0,—
(B) »

2z

(<)




t=0,7

T
(D) = 0,—
6

Us (BN SR A1d 9adl § | U o 39 [SRT & U SR UR T S1dl § ol
IR [AwIfia giar § | famura= IHieor v = 3.50 sin ¢+ 1.2 sin 2t § fe1 T
€ |y=0% fau @®vs o) & ggd 2 9F 71 ST |

T
(A) == 0,—
4
T
(B) = 0,—
2
© t=0,m
T
(D) 0,—
6
Answer Given by Candidate : D
Sl. No.53
QBID:12455028

A ball 1s thrown off the edge of a building at an angle of 60° and with an initial
velocity of 5 meters per second. The equation that represents the horizontal
distance of the ball x 1s x = v (cos 8) t. where v 1s the initial velocity. 8 1s the

angle at which it is thrown and t is the time in seconds. About how far will the ball
travel in 10 seconds?

(A) 25@ m

® 502m
© 25m
25

(D) \/g

UH Ha1 B UH B4 T TP T 60° BT 3R 5 T, & I F Ty 71 & &fae
ﬁ{x}ﬁﬂtﬂﬂmx=rﬂ (cos E}QEﬁh@ﬂ%aﬁmWﬁaﬂ BW%
el 9 7ig 3 thas] 7T § IR 9T JhUs 4 § | 10 YbUs 1 71g ot gdf ad
S 2

() 2543 H

® 5042
© 25

m




® 25
il |
V3

Answer Given by Candidate : A

Sl. No.54
QBID:12455029

Let nn be a positive integer and
R={(a.b)eZxZ|a—-b=nmforsomem=0E€Z}

Then R 1s:

(A) Retlexive on Z
(B) Symmetric

(€¢) Transitive

(p) Equivalence relation on Z

1T 1 U 4TS Selor (YUl I N 8 SRR = {(a.b)€Z~Z|a—b=
PG m£0eZP AU ARE -

(a) ZWR Nwifegd (o)

8) Tdfc® @afa)

() gifvifed (Hep®)

(D) Z‘J’(’Qﬂ*@ﬁ?ﬁﬁ?ﬁ

Answer Given by Candidate : B

Sl. No.55
QBID:12455030

The a. b, ¢ and d are in GP and are in ascending order such thata + d =112 and b
+ ¢ =48, If the GP 15 continued with a as the first term. then the sum of the first six
terms 1s:

(A) 1156
(B) 1256
(c) 1356
(D) 1456

GP (SN H a. b, c.d B AR ARG PHHSTUPR BAA S [Fa+d=112 3R b
+ ¢ =48] TR GP (G4 o P YUH HH & 1y fddd (I glan 8 dl Usd 6 HH
DI L 2

(A) 1156

(B) 1256

(c) 1356

(D) 1456

Answer Given by Candidate : D




Sl. No.56
QBID:12455031

Given below are two statements:
Statement I : If A C B - then B can be expressedas B=A U (E N B) and

P(A)>P(B).

Statement IT : If A and B are independent events. then (A and B ) ( A and B)
and ( A and B ) are also independent

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(€) Statement I is true but Statement II is false

(D) Statement I 1s false but Statement II 1s true

A9 A Py R MUE
BYT1: 3R ACB O B B &R [GA T EDAIE B=AU(ANB) 3R

P(A)>P(B|

YT : AR A IRB I WaFUeAl 8. dl (AR B). (A JRB) MR (A
IR g)fiw@dag
ﬁ@ﬂ?ﬂ?%ﬁ?ﬂ%%ﬂﬂﬁﬂﬁ@ﬁw JUYad IR DI g

(A) HYF IR SH Tel e
(8) YA I 3R I G Tad &
(©) HYT1G! ¢. Al HYA 11 7Ted §
(D) HYF 1A 6. Aibd YT Tel ©

Answer Given by Candidate : D

Sl. No.57
QBID:12455032

Given the following truth table:

A Blx
0 01
0 10
1 0|0
1 10

Which of the following Boolean functions does it represent?




(A) OR

(8) XOR
(c) NOR
(p) XNOR

SRR e n A RI

=
D':-D'—‘|-‘-“:

4 gRU FRfEd o 9 o9 9ol B S axidl § 2
(A) OR

(8) XOR

(c) NOR

(p) XNOR

Answer Given by Candidate : B

Sl. No.58
QBID:12455033

2

t-2

If ? g and ¢ are unit vectors. then | g — b 4 | 2_ 7

+‘E—E

does not exceed:
(A) 4
(8) 9
(c) 8
(D) 6

0§ 7 p IR ¢ o RYE.
9 O 9 fog 9 sifde T8 g 2
(A) 4

(B) 9

(c) 8
(D) 6

Answer Given by Candidate : B

N R 5
a—b| +[p-2 +|e-a

Sl. No.59
QBID:12455034

The product of two four bit positive binary numbers 1011 and 0011 is




(A) 1000011
(8) 100001
(¢ 100101
(p) 100111

aR fie & YATeTd af a5t T 1011 3R 0011 HTIUH §

(A) 1000011
(8) 100001
(c) 100101
(p) 100111

Answer Given by Candidate : D

Sl. No.60
QBID:12455035

¥ i —tii+hab=1a0d g% b =j—k then p 1s equal to:

A - j+k
(B) 27—k
© ;

(0) 2;

qﬁg a\=:'+j+i.r. ﬂ'l .E;=1 dl E;zg—_;‘—}'c dad EWWE-FII‘?

(A) i—j+k

(B) 2j-k

<) ;

(D) 2

Answer Given by Candidate : Not Answered
Sl. No.61

QBID:12455036




Consider the diagram given below and the following two statements:

N /_Q_Df
e

Statement I : Events A and B can be expressed as:
A=(4ANB)UY
B=(ANB)UZ

Statement IT : Events A and B can be expressed as:

A=X-Y

B=Y+Z
In the light of the above statements. choose the most appropriate answer from the
options given below:
(A) Both Statement I and Statement IT are true.
(B) Both Statement I and Statement IT are false.
(C) Statement I 1s true but Statement II is false.

(D) Statement I 1s false but Statement IT is true.

= fu v fo= 3R g wyAl iR faar Sifo -

P

DY : 4 AR BUCAIN Bl USRfd P TP & -

A=(4AnB)uy

B=(ANB)UZ

FYTI : 4 AR BUCTRT B USRI TR IHd & -
A= N-F

B=Y47Z

SWIdd HY- & 3fdied O, 41 fqu v fawedi ©§ 9 9sl 3 &1 994 Sifou -
(A) PYTI IR I aH A &

(8) HYFI AR I GHI A S

(©) Py 1 9d 5. Alch DU 11 3 8




(0) HYTI T T, AfpT YT I T B

Answer Given by Candidate : A

Sl. No.62
QBID:12455037

The simplified form of Boolean expression "4B8 + AB'1s
(A) A

(8) B

(© 1+4

(p) 1 +5°

qferg SITI® "4B + AB' BT INA FU TG ?

(A) A
(B) B
(c) 1+4
(p) 1 +5°

Answer Given by Candidate : D

Sl. No.63
QBID:12455038

Representation of —11 in sign-and magnitude 1s:
(A) 11011

(B) 010111

(c) 10011

(p) 01110

15 3R TS (s 3R A1) faf o —11 B yeRid $d 8 -

(A) 11011
(8) 010111
(c) 10011
(p) 01110

Answer Given by Candidate : C

Sl. No.64
QBID:12455039

1001 1s 2°s complement representation of

—

(A) —7
(B) +9
(c) +6
(D) —6

1001 2's BITHe fafd F FafafEa 1 S e =g g -

(A) —7




(B) +9
(c) ~6
(D) -0

Answer Given by Candidate : B

Sl. No.65
QBID:12455040

Match List I with List IT :

LIST I LISTII
A [(x+y) L |1
B. |x+1 ik | &4y
(xp) L [x'e )
D. |x+40 V. |x

Choose the correct answer from the options given below :
(a) A-IL B-I. C-III. D-IV
(8) A-IL B-IV. C-I. D-III
(c) A-IIIL, B-1, C—IV, D-II
(p) A-III, B-I. C-II. D-IV

1 1% IrY Gl 11 1 HeH Hifoe .
il et I
A |(x+y) L |1
B. |x+1 ik | &4y
[:A,}’)' 111 1 e }J"
D. |x+0 IV. |«
- fau e fdw el & 9 Hel SR &1 99 Bif .

(a) A-IL B-I. CII D-IV
(8) A-IL. B-IV. C-I. D-III
(c) A-II B-I. C-IV. D-II
(o) A-II B-I. CII. D-IV

Answer Given by Candidate: A

Sl. No.66
QBID:12455041




Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Carbon Monoxide when inhaled causes death.

Reason R : Carbon monoxide combines with haemoglobin.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are true and R 1s the correct explanation of A.
(8) Both A and R are true but R is not the correct explanation of A.

(€) A is true but R is not false.
(D) A is false but R 1s true.

19 &l B U U § : U HTUHY (Assertion A) b Y H faifad § d g2
WW(REMGH R)PEUH

HTUTYT A : BTa- JHISHES 3k 499 TG D PRUIBIN |

PRI R : Bl AHIHTHSS fGHNEEH & 9 Sl g |

IIRIdd HUA & 3AdlP |, A AU 0 f[dhedi § T Tol 3R &I 98- Dol :

(A) A RRGH TAE AR R, AP ol ARA &

(8) A 3R R I 9 5. Wit R, A P Ue! ARAT 15l &
(©) A9 . Wl R HIA T

(0) AT E. APIRIAE

Answer Given by Candidate : C

Sl. No.67
QBID:12455042

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : In a class of 40 students. 22 drink Sprite. 10 drink Sprite but not
Pepsi. Then the number of students who drink both Sprite and Pepsi 1s 15.
Reason R : For any two finite sets 4 and B.n (4)=n(4d—-B) +n(4 N B)

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are correct and R 1s the correct explanation of A.
(8) Both A and R are correct but R is not the correct explanation of A.

(€) A is correct but R 15 not correct.

(D) A is not correct but R 1s correct.




0 €1 HY ST T § : U SHTUDHUA (Assertion A) b =0 H [AIl&d § dl g3
WW(REELSDH R)BEUTH : )

HTUTYT A 40 faemilel &1 ue Hen o 22 el @ige did 8. 10 Bge Uld
& g Uwlt el did | 99 Tirge 3R U g1 UiH ared faendial &t 9@ 15 € |
PRUIR : [b5l & IR T30l 4 IRBH R n () =n(4-B) +n (4N B)
SWRIFd PYT & el T, i fGU T fdbedl T I 9a8 Iuged SR &1 94
DI -

(A) A3IRREHI UGl € IR R. AP Uol ARG ©

(B) A 3R R &I 95l 8, Afd R. A P Tol ORAT Tl ©

© ATEIEAFTR IS TS ®

() ATEITRIg AP RIS ©

Answer Given by Candidate : D

Sl. No.68
QBID:12455043

Universities in India are preferring traditional attire during convocations.

A. Indian Universities are against western dresses.

B. Indian universities wants to promote traditional dresses.
C. Indians love to celebrate occasions traditionally.

D. Indian traditional dresses are better than western wear.
E. Western wear 1s banned by government

Choose the correct answer from the options given below:
(A) B and C only
(8) A.Band C only

(c) A.BandD only
(p) D and E only

awg?ﬁ%ﬁamﬁ%ﬁmwﬁﬁ%%w@ﬁmﬁm@ﬁmﬁ
!

A. YR fayfaerer myr 9y & faRiefi € |

B. YRdY fd4fdeer URURe IR Bl A6 G 96d © |
C. YRGS 3faER] & URURT &0 Y G 9184 © |

D. YRdG GRYNS JRYW G14Td Ug-1d § §8R © |

E. UT4T Yg-1d] TROR GRT UAaid g |

i feu Tt fasodl § ¥ 98 SUged IR &1 90 BT ;
(A) Haa B AR C




(B) FHad A B IR C
() Had A. B 3IHRD
(D) HIAD 3R E

Answer Given by Candidate : A

Sl. No.69
QBID:12455044

Match List I with List IT :

LISTI LISTII

If 4% term of 2 G.P. 1s

square of its second term,
A and 1ts first term 15 3, then L
common ratio 1s

LA

The first term of an AP 1s 5,
the last term 15 45 and the

BE. sum of the terms 15 400, II. -
The number of terms 1s

ra | La

The sum of three numbers
which are n AP 15 27 and
C. sum of their squares 15 293. . |16
Then the common
difference is

The fourth and 54 terms
D. of an AP are_ respectively, v |3
64 and —61. The common

difference 1

Choose the correct answer from the options given below :
(A) A-IV. B-III. C-I, D-II
(8) A-II B-II. C-I1. D-IV
(c) A-IL B-IL C-1. D-IV
(o) A-IIL B-I. C-III. D-IV




el 1% 91y Gl 11 D1 i Sife -

T Eelbl
¢ U G.p. &I Igd UG 34D
A uE T a e, AR TP | |
uwmz%a’rww :

|

AP DIUYHUE 5 5, 3fdq Ug

o [5BARCHI TR ®TART400 |, | S

BEGIREEEaER gl | 2
|

Lh

v da denaf dramar g
27 8 3R 3Tdh a¥1] &1 AT 295
HGEEREIEIG]

AWRT I

fodfl AP ST aqY Ud 54di UG
D. | 64Td 618 | dl I | IV. |3
rd HRE

- feu e fowedl & ¥ Hel SR &1 997 B .
(A) A-TV, B-III, C-1, D-II
(8) A-IIL B-IL C-1. D-IV
(¢) A-IL B-IIL C-1.D-1V
(0) A-IL, B-1 C-IIL. D-1V

Answer Given by Candidate : D

III. |16

Sl. No.70
QBID:12455045

Given below are two statements: one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : The system of equationsx +y+z=4, 2x—y+2z=5.x—-2y—z=-
3 has unique solution.

Reason R : If 4 1s 3 x 3 matrix and B 1s a 3 x 1 non-zero column matrix, then the

equation AX = B has unique solution if A is non-singular.
In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are correct and R 1s the correct explanation of A.
(8) Both A and R are correct but R is not the correct explanation of A.

(C) A is correct but E. 1s not correct.

(D) A 1s not correct but R 1s correct.




0 €1 HY ST T § : U SHTUDHUA (Assertion A) b =0 H [AIl&d § dl g3
W%W{Reamn R)BEUH

AfUFYT A : Waﬂﬁl@x+}'+z=4. x—y+2z=5.x-2y—z=-3
P1 7% fafm e & | ﬁ

BRUTR : 3R 4 U 33 AT 3R B TP 31 YT Ty Afeag & ax =
B HHISRUI & U U fafI¥ 81 8. 3R 4 TH-RITeR § |

SIRIFd DY & el H, i [T T f[dpedl # I Ta8 T9gad SR D1 TG

DI -

(A) A SRR EH T8l § IR R. A DI Tg! IRHA &

(8) A 3R R &I Tol 5. dfcb- R. A Bl Tl URAT 5l o
© ATSIEAGIR USRI §

(0) AGEITRIg AP R TS ®

Answer Given by Candidate : A

Sl. No.71
QBID:12455046

Given below are two statements:
Statement I : 011010 1s 2°s complement representation of —37.
Statement IT : 111 g, 1s octal representation of 73.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are true.
(B) Both Statement I and Statement II are false.
(C) Statement I 1s true but Statement I 1s false.
(D) Statement [ is false but Statement II 1s true,
EICCACIE AR I

YT : 37 DI 2's R A=TU0110108 |
WII:HWWU@(W)W111E3}%|

SWRIad DY & el 4, i< 34U U fgbedi T 9 g8l 3o &1 99— Doy -
(A) HYFI AR EH Td §

(8) PHYFI R II &I AT

(€) HYTI A B, Alch- YT I 3T §

(0) FYTIITA 8. AfpT FYT 1 T0 ©

Answer Given by Candidate : C

Sl. No.72
QBID:12455047




Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Binary information 1s represented in digital in terms of ‘zeros” and
‘ones’.

Reason R : Digital computers are electronic devices, which operate using
clectrical voltages.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are correct and R is the correct explanation of A.
(8) Both A and R are correct but R is not the correct explanation of A.

(C) A is correct but R 15 not correct.

(D) A is not correct but R 1s correct.

-9 €1 Y ST U § : U SHTUDHUF (Assertion A) & =0 H [A1REd 8 dl G
3HD BRI (Reason R) HEUH

a{fil%iqu: G- STERT (@15-R1) Y1 SIRT 9YT U & 3@ & &4 4 gy

Sl e |

PRUIR : [Sied TR goiac P YD 5. §l d4q dieedl (voltage) P
SR R ARERId 81 § |

SQRIF PY b 3P T, i U T fabedi T I 969 SUged IR &1 904

I :

(A) A SRR T8l g AR R AD el IR 5

(8) A 3R R &I Tgl 8. dfch- R. A Bl el URAT 5l ©
(©) AYEI g AfPTR TG TRI©

(D) A6l E APTR B &

Answer Given by Candidate : C

Sl. No.73
QBID:12455048

Consider the diagram given below and the following two statements:

e Qﬂ)f/
R M A

Statement I : Regions X, Vand Z can be expressed as 4~ 5, 4B and T~ B

respectively

Statement I : P(Y)=P(4)-P(X)=P(B)-P(Z)

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are true.




(B) Both Statement I and Statement II are false.
(C) Statement [ is true but Statement II iz false.

(D) Statement [ is false but Statement II is true,

few e fo iR HyHl )R 9T Fifa -

e Q of
N W A

HYT: X, VIR Z 871 P B UeRId S UPR IR UPAd S - 4~ 5.4~ B AR
A~ B

HYAIL: P (Y)=P(4)-P(X)=P(B)-P(2)

IWRIFd HYF & el . 5 [GU U fdhedi § 4 ol 3l &I 994 DI :

(A) FYTIARISHI I ©
(B) HYTI AR I SHI 3T B
(© PYTIII T, AfPT PYT I T ©

(0) FYTI 3T . AP FYT 1 TT ©

Answer Given by Candidate : C

Sl. No.74
QBID:12455049

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Goitre 1 a common disease in mountainous regions.

Reason R : The diet of the people in mountains lacks Iodine content.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are true and R 1s the correct explanation of A.
(8) Both A and R are true but R is not the correct explanation of A.

(€) A is true but R 1s false.
(D) A is false but R 1s true.




0 €1 HY ST T § : U SHTUDHUA (Assertion A) b =0 H [AIl&d § dl g3
W%W(Reamn R)DEUH
a{PW%HA:qﬁ%ﬁuﬁﬁﬁwmmter).wwwﬁm‘aﬁaﬁﬁ
SRS |

PRUIR : T4d 10 @l & R H IS dd &1 HHl a5 ol |

RIS BY & AP 1. A U U fdbedl § I Ual 30 &I 984 Dol :
(A) ARREFI IS SRR ADI Jol AR &

(B) ARREHI U 5. AP R. AT Jol AR 1ol o

(© ATIE. AfPIR 3ETR

(D) A3 e, AFTRIA D

Answer Given by Candidate : A

Sl. No.75
QBID:12455050

Which of the following storage hardwares can be used as a back-up device?

A . HDD
B. ROM
C. RAM
D. Cache
E. Magnetic Tape
Choose the correct answer from the options given below:
(A) Only A. B and C
(8) OnlyB.CandD
(c) OnlyAandE
(p) OnlyA. Cand E
9%-3{9 FUHRUN & T4 H Fafaiad § 4 o1 €Re SuHvl (Iafed
FYH 0Ty BT YOI a1 ol Jadi § 2
A.HDD (T4.31.381)
B. ROM (31H)
C. RAM (3H)
D. Cache m
E. Magnetic Tape (ﬁaﬁfﬁ é"El)

=1 feu U [ el § 9 Yol 3R &1 90 Bl
(A) PATA. B IR C

(B)




$ad B, C 3R D
(C) Had A RE
(D) BT A, C IR E

Answer Given by Candidate : C

Sl. No.76
QBID:12455051

In a class there are 400 students. the following table shows the number of students
studying one or more of the subjects:

Subject Number of Students
Mathematics 250
Physics 130
Chemistry 100
Mathematics and Physics 100
Mathematics and Chemistry 60
Phvsics and Chemistry 40
Mathematics, Physics and Chemistry 30

A. The number of students who study only Mathematics is 100.

B. The number of students who study only Physics is 40.

C. The number of students who study only Chemistry 1s 40.

D. The number of students who do not study Mathematics. Physics and
Chemustry 1s 70.

Choose the correct answer from the options given below:
(A) B and D only

(8) A and B only

(c) Aonly

(p) C only




% T H 400 faendf 8 | <= 1 715 9ol v a1 e 9 siftres fowg ugH ard
B P LI & |

IELE BT D ST
TTfordg 250
Hifde! 150
THEH T 100
0T U1 HifaT 100
0T YT TG TR 60
i ayT THa T 40
T, Yifa®! 9yl I 94 30

A. Had TTUTd 9g- ard B @1 981 100 8 |

B. Idd Hifd®! Ug- a1d B B T=T40 © |

C. Had T R U ard S & T=m40 T |

D. TfUTd. Hifdt § IUE- U 7 UgH aldl S &l I8 70 8 |

i feu 7Tt fasedl § ¥ 999 SUged IR &1 90 BT ;

(A) HFAB AR D
(8) $Had A R B
(C) Had A
(D) &Hdd C

Answer Given by Candidate : D

Sl. No.77
QBID:12455052

The arithmetic means of two observations iz 125 and their geometric mean is 60.
Find the harmonic mean of the two observations.

(A) 4.17
(B) 8.34
(c) 28.8
(D) 57.6

&l SadidhHl (SHESIAR) BT B0 H1eH 125 § 3R 3 UITR H1eH 60 §
| &1 Sfaciid-| B exledd AT JTd BT |

A) 4.17

(B) 8.34

(c) 28.8

(D) 57.6
Answer Given by Candidate : A

Sl. No.78
QBID:12455053




The arithmetic mean and standard deviation of series of 20 items were calculated
by a student as 20 cm and 5 cm respectively. But while calculating them an item
15 was musread as 30. Find the correct standard deviation.

A) 4.10
(B) 4.40
(c) 4.54
(D) 4.66

U B GRT G A1ed 3R 9 faga- U 20 dadl & T & 70T S
TS Wil fop SHer: 20 T 3R 5 It § | Afda 399 T0HT & SRIE T 15 B
TTad! 9 30 Ug /a1 74T | gl JiES fdde- &l i Piferg -

(A) 4.10

(B) 4.40

(c) 4.54

(D) 4.66

Answer Given by Candidate : B

Sl. No.79
QBID:12455054

In a processor, while executing an instruction

A. Programme Counter 1s used to hold the address of next mstruction.
B. Instruction register holds the mstruction for execution.

C. Memory Address Register is used to perform address translation.
D. Memory Data Register 1s used to perform data operation

E. Clock generates control signals.

Choose the correct answer from the options given below:
(A) Only A and B are true

(8) Only C and D are true

(c) Only A. B and E are true

(p) Only B. C, and D are true




feb it 3SR T saTG PR 0. U UIEER 1 -

A @m%@@@@% eI WiuTH B3 &1 Iugn foar
EIGIER

B. 3SR ROReR 1ad $= & [¢U 34 &I 3Gl ¢ |

C.gd Q@? & EYIaRU & few :{Hﬁ"f Tl IoReR (Memory Address Register)
1 S9N fHa S g |

D. STeT Ui %%ﬂl F:jﬁ"f ST Iorer (Memory Data Register) &1 ITANT
AT S ¢ |

E. U1 (Clock) §RT [HTA0 Yddd®| i 304 (a1 S T |

14 fu U fo el o 9 T8l 3R &1 999 Hif -
(A) Had A 3MRB

(8) &ad C AR D

(c) HaAA. B 3IRE

(0) HFAB. C ARD

Answer Given by Candidate : B

SI. No.80
QBID:12455055

Given the marks of 25 students in the class as {my. m,. ..... my5}. Marks lie in the

range of [1-100] and s 1s the mean. Which of the following quantity has the value
zero?

25

(A) Z | m; —im |
=1

(B) Z (m,— — i)

i=1

25
(€) Z (m,- —!ﬁ)
=]

2

TS BETH 25 BHI D 3B THTBR {m,. mo. ..... mys AU E | 3 [1 - 100]
& IR/ WA 31 € 3R 7 A § | Fafafed om d et am 3 § 0

(A)




25
® > (m;—m)
i=]
25 2
@ > (m—)
i=l
25
(D) —
= M
Answer Given by Candidate : B
Sl. No.81

QBID:12455056
India has been continuously experiencing military threats from its neighbouring
countries.
Statement I : India should engage into an all out war to stop the nagging threats.
Statement IT : India should get the neighbours into a serious dialogue to reduce
the tension at its border.
In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I 15 correct but Statement II 1s incorrect.

(D) Statement [ is incorrect but Statement I 1s correct.

YRA Y TSI T I TR =7 o B ST PG 6 |

PYF I : YR DI 7 B T Ga? Bl A+ & [0 JR-UR Bl TS5 doql

18T |

SYF I : 39 AH13 & T3 S HH B3 & (0T HRd DI 39 TsSiiadl I

TR drcdid B4 9T |

SQRIFI PY & HelD T, i fGU T fdbedi T I Ta8 Suged SRk &1 904
PO -

(A) Y1 AR I SH T8l &
(8) HYH I HRII I Tad §
(©) HYF I TG! §. lchd HYA 11 7Tdd ©
(D) HYF I Tl 5. Afchd HYA 11 7Tdd ©




Answer Given by Candidate : D

Sl. No.82
QBID:12455057

A + B means A is daughter of B

A x Bmeans A1s son of B

A — B means A 1z the wife of B

P = Q- S means

Statement I:; S 1s father of P

Statement II: P 1s daughter of Q

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are true.
(B) Both Statement I and Statement IT are false.
(C) Statement [ is true but Statement II is false.

(D) Statement [ is false but Statement II is true.

i 2 Py AU E -
A+BPITATT A. BB T |
AxBBIAAAS A. BT |
A-BHIUAAG A. BDI Ul g |
dl P x Q — S &I Hddd -

PYTI: S.PHIOAIR |
PYTI:P. QB AT |
IURIFd HYA & el 1. J1d [GU U f[dhedi & U ol 3k BI 994 DI :

(A) PYFIIR IS TAE
(B) HYTI AR I SHI 3T B
(©) YT III T, AP PYT I T ©

(0) FYTI3TI . AP FYT 1 TT ©

Answer Given by Candidate : C

Sl. No.83
QBID:12455058 . o .
The terms 1. log, (x) log, (y) and -15 log, (z) are in AP. Based on this information.

answer the following questions.
1. log, (x). log, (v) 3R — 15 log, () PHAPHT | TU YT & MYR R fau Mg
SAARId WY D1 FTR ol |

The Commeon difference of the AP is:




(A) 2
(B) —2
(©) 1.2
(p) —1/2

AP BT THM 3R © -
(A) 2

(B) —2

(© 172

(D) —1/2

Answer Given by Candidate : B

Sl. No.84
QBID:12455059

The terms 1, log, (x) log, (y) and -15 log, (z) are in AP. Based on this information,

answer the following questions.
1 log, (x). log, (v) #R — 15 log, (z) PH AP H & | 54 1 & YR R fGT MY
SAfRAd WY D1 IR el |

The value of xy 1s:
(A) 1

(B) —1

<) z-

(D) 7
X}'WW%-

A) 1

(B) -1

<) z-

(D) Z°

Answer Given by Candidate : D

Sl. No.85
QBID:12455060

The terms 1, log, (x) log, (y) and -15 log, (z) are in AP. Based on this information,

answer the following questions.

1. log, (x). log, (1) 3R — 15 log, () PHAPH T | 39 I P YR R [T
Prafafad Uy &1 S G |

vz 1s equal to:

(A) X

(B) x7

(c)




(D) '7_3

}'Zﬁﬁﬁ@ﬂﬁmwa?
(A) X
(B) ?
(©) 72

(D) -

Answer Given by Candidate : A

Sl. No.86
QBID:12455061

Consider n events E|. E,.....E,. with respective probabilities py. ps....p,. If

P(E,, Ey. ... E,)=] p, then
i=]

(A) The events are mutually exclusive
(8) The events are independent
(¢) The events are dependent

(p) The events are mutually exclusive and independent

fG=R PIY n IS E,. Es. ... E,. TR [STHSBT RIS (Probability) HHIT: p;.
Py...Dy 8 | 3R P(ELE,,...E,)=[] p.. 70
i=1

(A) IS URER 3ol ¢ |

(8) HCHA WIA G |

(© "eAld R E |

(D) HEATI TRER 3qqoll 3R WA § |

Answer Given by Candidate : D

Sl. No.87
QBID:12455062

Given a set of events E,...E_, defined on the sample space S such that:
l:lj 7 iand 3 TE ], E. NE. =6

(i) .l_fJ]E" =5
(i) PIE)>0.¥i=1n

Then the events are:

(A) Pairwise digjoint and exhaustive

(8) Pairwise disjoint and independent




(c) Dependent and mutually exclusive

(p) Independent and mutually exclusive

fGU M g BIAC E,. ... E, TP Uidasl Ay (Hoe W) s § 58 GR
RIS g f5

i. Viand j, i#j,E N EJ_. =

i. UE;=5

il P(E)>0,vi=Ln
dl geArd g |
(A) T YR 3R LY
(8) T Y IR WA
© 43R 3R 9IER sgaeit
(D) TG 3R TRER 3qasif

Answer Given by Candidate : Not Answered

Sl. No.88
QBID:12455063

Given the following statement and five possible conclusions.
All scientists working in America are talented. Some Indian scientists are working
in America.

A. None of Indian scientists are talented.

B. Some talented Indian scientists have migrated to America.
C. All talented scientists are Indians.

D. Some Indian scientists are talented.

E. Scientist working in India are not talented.

Choose the correct answer from the options given below:
(A) Conclusions A and D only are correct
(8) Conclusions B and D only are correct
(c) Conclusions A and E only are correct

(p) Conclusions B and E only are correct




I uig guifad SR aur sy fGu U g1

et § ol @ ara 9t o nfaurered € | oo yRdig o
HPTH PRI S |

A, ®ig Ut R axnfae ufaure 78l g |
B. T WITHIRIE! YRAID a1-d SHERIDT F=UH S U |
c. Jaft yfayreel a9 YRAIg § |
D. & YR a1 WUl § |
E. HRd § SRR d3iad wfayrend el g |
=< f4U U f[adedl § O Tl 30 &1 99 STl ;
(A) Sad TSPY ATUID TEI © |
(B) Shad [-THY BIUTD FEI © |
(©) Sad T5pY AJUTE TEl § |

(D) SHad [Py B IUTE TEI© |

Answer Given by Candidate : B

Sl. No.89
QBID:12455064

Ministers arrived at the public function in their cars. Consider the following
statements.

A. All Ministers are rich.
B. Minister have official cars in general.
C. Minister usually participate in public functions.
D. Only rich Ministers arrive in cars.
E. Person with cars can only be a Minister.
Choose the correct answer from the options given below:
(A) Aand B only
(8) B and D only
(¢) B and C only

(p) C and E only




frafaiad sy W aF € | te gidu-e gaRE d T4 309 oRIH & |
A gt o 3niR
B. Y= TG & U TR PR eIl & |
C. e g T grdefe IRE H UM ad § |
D. $ad R TN S IRIF A E |
E S afdd $ U9 R 8. Sdd dol Al 7 9Hdi ¢ |
i feu U fasedl § O Ugl 30 &1 94 Bifol .
(A) Had A 3IRB
(B) $dd B AR D
(©) HIAB AR C
(D) THad C ARE

Answer Given by Candidate : C

Sl. No.90
QBID:12455065

The simplified form of Boolean expression:
ABC + ABC 18

(A) AC

(B) AB

(c) BC

(p) 0O

T TP " Tpc + 4pc " PTERA &G g
(A) AC

(B) AE

() BC

() O

Answer Given by Candidate : C

Sl. No.91
QBID:12455066

4 Indians. 3 Americans and 2 Britishers are to be arranged around a round table.
Answer the following questions.

4 YR, 3 RT3 2 1= U A3US Cad & IR| 3R Fafyd & (46 §)
|

fau U Fgfaiad Uy &1 3R Sifei -

The number of ways of arranging them is:
(A) 9!
(8) 9!/,




(c) 8!
(p) 8%

3P| HARYd B & (o0 aRich] i ] -

(A) 9!
(8) 97
(c) 8!
(o) 87

Answer Given by Candidate : C

Sl. No.92
QBID:12455067

4 Indians, 3 Americans and 2 Britishers are to be arranged around a round table.
Answer the following questions.

4 YR, 3 RT3 2 6= U A3US Cad o IR} 3R Fafeyd g (446 §)
|

feu v FafaRad Uy &1 3WR v -

The number of ways arranging them so that the two Britishers should never come
together 1s:

(A) 7!x2!
(B) 6! x 2!
© 7!

(0) 6! °P,

3! SUaYd B & (o dRidh] &l Tl od (i) &l S i=l U 1y St
-Tet 31T =R -

(A) 7! x 2!

(B) 6! = 2!

© 7!

(o) 6! °P,

Answer Given by Candidate : C

Sl. No.93
QBID:12455068

4 Indians. 3 Americans and 2 Britishers are to be arranged around a round table.
Answer the following questions.

4 YR, 3 HRDT 3R 2 =1 U A3US Cad & IR| 3R Faf&yd g (46 §)
|

fau U Fgfaiad Uy &1 3R Sifei -




The number of ways of arranging them so that the three Americans should sit
together 1s:

(A) 7! = 3!
(B) 6! = 3!
(c) 6!°P;

(p) 6! P,

3% HARYd B & o0 aRich] D T oI (dlidh) i SHRG] Uh a1y
o1 918U

(A) 7! = 3!
(B) 6! = 3!

(c) 6!°p;

(D) 6! P

Answer Given by Candidate : B

Sl. No.94
QBID:12455069

Match List I with List IT

LISTI LISTII
(Books) {Authors)
A The story of my I Maulana Abul Kalam
© |Expenments with Truth ’ Azad
B. |Glimpses of World History II. |Narendra Modi
B India Wins Freedom III.  |Pandit Jawaharlal Nehru
D. |Exam Warriors IV. |MK. Gandhi

Choose the correct answer from the options given below:
(A) A-IV. B-III. C-I. D-II
(8) A-IIL B-IV. C-II. D-1
() A-IV. B-II CIII D-1
(p) A-IV. B-III. C-II. D-I




il 1 Ty Gl 11 DT A Difoe -

E =
$ il
A %ﬁ%ﬂﬂggﬁgﬂ L |96 ge S Sfele
B. (Meo@usmasfesl | L |[R=dc
C. |sivsarfdgwisy . |gfdsd SaEad Hg%®
D. |woHaigd IV. |g9 o e

-t feu e fowedl & T Uet SR &1 997 DI -
(A) A-IV, B-III, C-1, D-II
(8) A-IIL, B-1V, C-II. D-1
(¢) A-IV,B-IL C-III D-1
(0) A-IV, B-III, C-II, D-1

Answer Given by Candidate : A

Sl. No.95

QBID:12455070
Match List I with List IT

LISTI LISTII
A Austria L Oslo
B. Iran II. Stockholm
C. |Norway III.  |Vienna
D. Sweden IV. |Tehran

Choose the correct answer from the options given below:
(A) A-IIIL, B-I, C—IV, D-II
(8) A-II B-IV, C-II. D-1
(c) A-II, B-IV, C-I, D-II
(p) A-IL B-II. C-III. D-IV




il 1 Ty Gl 11 DT A Difoe -

Il I ¥ 11
A |anfEEr L |3
B. [3tH 1. |[©@eH
c. [Ad nL.  |fagmn
D. |dEd V. |dexE

- 1y T fawedl # T Uel SR &1 90 DIfo -
(a) A-IIL B-1. C-IV, DI
(8) A-IIL, B-1V, C-II, D-1
(¢) A-IIL B-1V, C-1, DI
(0) A-I B-IL C-III. D-1V

Answer Given by Candidate : C

Sl. No.96
QBID:12455071

Given three 1dentical boxes B, B, and B; each containing two balls. By contains
two golden balls. B, contains two silver balls and B, contains one silver and one
golden ball. Conditional probabilities that the golden ball is drawn from B. B,. B;
are respectively

() 0.1.1/2

() 1/2.0.1

(c) 1.0.1/2

@) 1.1/2.0

[4U T 3 §HMF 1991 B,. B, 3R B; U@ &1 &1 (ball) PIEA © | B, &l Fex
§idl. B, 3l il dld 3R B; T ek 3R Te e &ld 9dl © | guidas
YIiehdl (= =, Wafaied]) Y963 §1d &l Hbia &f U B,. B,. B;
SIGRESES

() 0.1.1/2

() 1/2.0.1

(c) 1.0.1/2

() 1.1/2.0

Answer Given by Candidate : B

Sl. No.97
QBID:12455072




Match List I with List IT :

LISTI LIST IT

In a GP. the third term 1s 24
A and Sth term 15 192. The I 78

COMUMOoN ratio 1s

Let S, denote the sum of

the first » terms of an AP If
Sa, = 35n, then 55,/5n

equals to

The zum of the first 3 terme
of a GP 1= 13/12 and their
product 15 —1. The first term
15

The least value of » for
whichthesum 3 -6 -9
+___.+ nis greater than
1000 15

Choose the correct answer from the options given below:
(A) A-III B-I. C-II. D-IV
(8) A-III, B-IV, C-I, D-II
(c) A-IV. B-II. C-III. D-I
(p) A-IV. B-III, C-II. D-I




il 1 Ty Gl 11 DT A Difoe -

il I 11
THGPHIAUUG 248
A |dRToiUg1928 @l . |78

GHM 3fUrd 21
AT PO AP B UYHA
Uel & IR &l 5, gRI

B. |[@mwmigials, = | m |6
35, @183,/ S, SR GAN
|

4t G.p. & UYH 3 Ugl &I
AT 13/12 § 311 ST

oG -18 | dl GP. &I
Tgal Ug BT |

noEE U +6+0+
+n ®IONT 1000 9

D a2 » o1 g
A T8N

=i {4y T fadedt H T Uel SR &1 90 DIfo -
(a) A-III, B-1 C-II. D-1V
(8) A-IIL, B-1V, C-1, D-II
(¢) A-IV,B-II, C-III, D-1
(0) A-IV.B-III, C-II. D-1

Answer Given by Candidate : C

m. |1

IV.

]

Sl. No.98
QBID:12455073

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reaszon R.

Assertion A : Military service should be made compulsory in our country.
Reason R : Every citizen should protect his country.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both A and R are correct and R 1s the correct explanation of A.
(8) Both A and R are correct but R is not the correct explanation of A.

(€) A is correct but E. 1s not correct.

(D) A is not correct but R 1s correct.




9 €1 HY ST T § : U SHTUDHUH (Assertion A) b =0 H [AIl&d § dl G
WW(REELSDH R)BEUTH

fiepyT A eOR 3W H T1 H iadl A eifqard g |

PRUIR : YD AFIRD Bl 30 <% I & HA1 9liey |

SQRIF HY & 3P T, i U T fapedi T I 969 SUged IR &1 904

PIfT :

(A) A SRR T8l g AR R ADI el IR §

(8) A SRR M Fel g, Al R. A Bl Ug! IRAT ol ©
(© AVRISAPIR TS T8

(D) A¥el T8I 5 APIR G

Answer Given by Candidate : D

Sl. No.99
QBID:12455074

Match List I with List IT :
w # 1 15 a cube root of uwity.

LISTI LISTII
The value of 1/9 (1 -
A i -wdHI-whH 1- L |0
u-‘S} 15
w(l+w-— u:)? is
equal to

II. 1

The least positive integer »
C. |suchthat (1 +w2)1=(1+ . |-128
wh is

D. |(1+w+w? isequal to V. |3

Choose the correct answer from the options given below:
(A) A-IIL B-III C-I. D-IV
(8) A-IL B-III. C-IV, D-1
(c) A-III B-II. C-IV. D-1
(p) A-II B-II. C-1. D-IV




Tl 1 Ty

w138 BIYT A S |

11 &1 (5 I

Gall I
A [Pa-wa-whHa- s 1
WY a-wd WW% |
B [wAw—wd___ @ o |
WE s |
BEGERBIE G UERer
C. [BA+wHt=(1+wh" . |-128
|
D. |(1+w+whdaaRs | V. |3
4 feu U fadenl T 9 gl 3R &1 9494 ST .
(A) A-IL, B-III, C-I, DIV
(8) A-IL B-IIL C-IV, D-I
(o) A-III B-II. C-IV. D-1
(p) A-III. B-II. C-I. D-IV
Answer Given by Candidate : D
Sl. No.100
QBID:12455075
Match List I with List IT :
LISTI LISTII
A |logy (log; 81)= L 0
B 34 logg- = 7% then k " P
g [|2%es.> 5lop2- 1L 1
log; [log; (256)] = IV. 2

Choose the correct answer from the options given below:

(a) A-I B-IIIL C-II. D-IV
(8) A-I B-III. C-IV, DI
(c) A-II B-IV, C-II. DI
(o) A-II B-IV, C-1. D-II




il 1 Ty Gl 11 DT A Difoe -

bl CRia
A |logy (log; 81) = . o
B. |3*1°5,7=7% then k= o |3
C. |28 —5%82= m |1
D. |log; [log; (236)] = v
- fu Y fampedl 1 & HEl STk &1 90 By -

(a) A-I B-IIIL C-II. D-IV
(8) A-I. B-IIIL. C-IV, D-II
(c) A-IIL B-IV, CII. DI
(o) A-IIL B-IV, C-1. D-II

Answer Given by Candidate : A




